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Note :

MANAGEMENT
PAPER-1I

This paper contains fifty (50) objective type questions of two (2) marks each. All questions
are compulsory.

1.  Which one of the following assumptions is not related to consumer behaviour based on the
cardinal utility approach ?
(1) Rationality &
(2) Diminishing marginal utility of money ;
(3) Utility cardinally measurable {
(4) Maximization of satisfaction with limited money income | r
2.  Statement - I : A rectangular hyperbola shaped demand curve has uniformsslopes on all
its points. F
Statement - II : If the price elasticity is equal to unity, the marginal revenue corresponds to
zero. , 5
Code : /“’ "
(1) Both the statements are correct f -'
(2) Both the statements are incorrect
(3) Statement - I is correct while Statement - II § inforrect
(4) Statement - I is incorrect while Statement - T ;Jcorrect
3.  Match the items of List - I with the items of List - IT andsfirfid the correct combination :
List - I “{ M st
(Market Structure) A { (Nature' of industry where prevalent)
(a) Perfect competition ¢ () Aluminium and passenger cars
(b) Oligopoly _‘ A (i) Public utilities like Telephones and Electricity
(c)  Monopoly : (i) Manufacturing : T.V. Sets, Refrigerators
(d) Monopolistic competition (iv) Farm Products : Grains
Code : P
(@ () (9 \ ()
M 0 G (G )
@ () ). G ()
() (i) W4 Q) ()
S@ G (i) ﬁfvy (i)
4.  Statement - I: In general, the NPV and IRR methods lead to the same acceptance or
rejection decision when a single project is involved.
Statement - II :} The inconsistency in ranking of competing projects as per the NPV and IRR
| methods lies in the implicit assumptions with regard to different rates of
| returns on re-investment of intermediate cash flows.
Code :
(1) ” Both statements are correct
(2) Both statements are incorrect
(3) Statement - I is correct while Statement - II is incorrect
(4) Statement - I is incorrect while Statement - II is correct
o-ms [ 1HMIATIA :
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pars [

Which one of the following is not covered in macro-economics ?
(1) Performance of the entire economy

(2) Price and output determination of a commodity
(3) Factors and forces of economic fluctuations

(4) Monetary and fiscal policies

Match the below mentioned aspects with their main behavioural disciplines : {

Aspects Behavioural discipline {

(a) Leadership and stress management (i)  Psychology [ f
(b) Group conflict management (i) Anthropology d
() Cross-cultural analysis (iii) Sociology and Psychology
(d) Power (iv) Political sci{ence |
Code : /‘P( “1

@ ® © @ [ | |
O G 6 @ ) f \
@ G @) 6 @) /
@) O Gv) @) (i) —
@ @ G @ o 4 (

. a,;
The operant conditioning ox_lga'i'ning approach to behaviour is based on
(1) Law of reinforcement (2) Law of effect
(3) Law of reprod{%ction (4) Law of expectations
L

The principles by which the process of perceptual organization works was first identified by
Max Wertheimér in the year

S(1) 1918 ff L (2) 1933 (3) 1924 (4) 1923

The leadership theory of describes that effective group performance
depends on the tFroper match between the leader’s style if interacting with his subordinates
and the degree to which the situation gives control and influence to the leader.

(1)I'n ‘lowa State Leadership Studies’; Ronald Lippitt and Ralph K. White
(2) y ‘Managerial Grid’; Blake and Mouton

r
(3)  ‘Trait Theory’; Stodgill and Barnard
(4)

4) ‘Contingency Model’; Fred Fiedler

=
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10.
termed as
1)
3)

Zero-sum conflict
Line-staff conflict

(2)
(4)

When one individual or group wins at the expense of another individual or group, it is

Non-zero sum conflict
Formal-informal conflict

11. Which one of the following statements is not true in the case of Human Resource

Management ?

(1) It performs developmental function

(2) Employees are motivated by salary

(3) It is proactive in nature

(4) It consists of various sub-systems
12.

List - I
(a) Personnel replacement chart
(b) Job posting

(iii)

(iv)

Ty

I’ [

Match the items given in the List - I and List - II and choose the correct option :

r

. List - II

A chart*prepar’ed fqr each position in a

pany.to show possible replacement
ndidates and their qualifications

(i) fThe ongoing process of systematically

organizational leadership to enhance
performance

Company. . récords showing present
performance and promotability of inside
candidates for the most important positions

| identifying, assessing and developing

r
J

Publicizing an open job to employees and listing
its attributes, like qualifications, supervisor,
working schedule, etc.

13.  Which one of th followmg training methods is not a managerial ‘on-the-job training

(c)  Succession planning
4
s X
(d) Position replacement ca-)id 4
!

Code : .

(@ (b) (o) g(d)~
M) @6 - )]
@ ) @ |G G
(3)  (iv) (1) 4 (1) (iii)
@) (i) () 1)
method” ?
(1) » Coaching |
(3) Job Rotation

II'.
14. J

state"his side of the case.
(1) Punitive approach

Humanistic approach

a7t HIH\|H|||H|H||||||H (T

(2)
4)

(2)
(4)

Action Learning
Management Games

to deal with employee indiscipline provides the offender every opportunity to

HRD approach
Judicial approach

6 Paper-11
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15. Which one of the following is a disadvantage of Critical Incident Method as a tool of

performance appraisal ?

(1) Difficult to rate or rank employees relative to one another

(2) Time - consuming

(3) Can cause disagreements among employees and may be unfair if all employees are, in
fact, excellent

(4) Employee’s appraisal results depend on employer’s choice of cut-off point? '

16. If raw materials are in store for 2 months, processing time 22 months, finished good{ remain
in store for 15 days, debtors are allowed 60 days’ credit and credit received from suppliers of
raw material is one month, the operating cycle period is :

(1) 7 months (2) 6 months (3) 6% months (4) 5 months
ke
g |

17. Which of the following is not general di:/s_;}osure,,requirement under Accounting
standard-14 ? / ]

(1) Name and nature of Business (2) "IDeSCI'lptIOI‘l and number of shares issued
(3)  Accounting method followed 4) Partlcﬁlr;f of scheme sanctioned

18. Under the Modified Accelerated Cost Recovery Syst }{em (MACRS) an asset in the “5 year
property class” would typically be deépreciated over how many years ?

(1) 4 years (2 5 y‘é’ar%- (3) 6 years (4) 7 years
Y4
19. According to the concept of financial signalling, management behaviour results in new debt
issues being regarded as # news” by investors.
(1) Non-Event { (2) J{ Bad (3) Risk Neutral ~ (4) Good
20. The Exchange of interest and/or principal payment between two parties are called :
(1) Swap y f = (2) Inthe money (3) Forward (4) Put option
21. From the following set of information, which combination is correct to define the process of
perception in order to understand consumer behaviour ?
(a) Selective Attention (b)  Selective Distortion
(C)I'l. Selective Retention (d) Selective Apprehension
Code :
(1) (Snly (a) and (d) are correct (2) Only (a), (b) and (d) are correct
(3)  Only (b), (c) and (d) are correct (4) Only (a), (b) and (c) are correct
oams [ \ l :
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22.  When the company’s Salesperson contacts the customer from time to time with Suggestions
about improved uses of the product or additional new range of products, then it is
called as :

(1) Proactive Marketing (2) Accountable Marketing
(3) Reactive Marketing (4) Relationship Marketing

23. A state of demand where major part of the market dislikes the product and may,:eVen pay a
price to avoid it, may be called as : p
(1) Declining Demand (2) Overfull Demand {

(3) Negative Demand (4) Distractive Demand |

24. When the Companies pay less attention to its own costs or c;lemands and bases its price
largely on competitors” prices, then it is known as : « {
(1) Value Pricing (2) Qﬁ';ng raté pricing
(3) Image pricing (4) ..'jlf’sychologiﬁtlal pricing

/ f

25. From the given columns which of the cornbination! %st describe the concepts of product

hierarchy ? —
(a) Need family (i) The gore need thatfunderlines the existence of a product
fa}{mly
(b) Product family (i) 4 éroup of items within a product line that share one of
.- several possible forms of the product
(c) Product class (iii) Group of products within the product family recognized
> as having a certain functional coherence
i
(d) Product line {7(@iv) All the product classes that can satisfy a core need with
. reasonable effectiveness
Code : ‘4
+ (1)  Only (a) - (i), () - (iv) and (c) - (iii) are correct
) Only (a) - ( ) (b) (iii) and (c) - (iv) are correct
(3) Only (b) - (iv), (c ) (111) and (d) - (ii) are correct
(4) ; (a) - (i), (b) - (iii), (c) - (ii) and (d) - (iv) are correct
\

26. An input (such as variable cost per unit or fixed cost) for a model is an example of a(n) ?
(1)  Stochastic variable (2) Decision variable
(3) Algorithm (4) Parameter

oars [N 1
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27.

28.

29.

Match the items of List - I and

List - II and indicate the correct code :

List - I List - II
Operations Management Activities
Functions
(a) Capacity planning (i)  Setting policy guidelines and procedural details of
making a watch
(b)  Quality Management (i) The steering of the cars loaded in trucks reaches the
assembly line every morning and evening
(c)  Process Design (i) Establishing rules and policies of whichetablets are
to be accepted and others not to be
(d) Location and Layout of (iv) A hospital can largely serve 500 patients at qhy time
facilities f e
Code :
(@ (b) () (d) d
M () (@ 0 G : :
@ ) O @) @) e’
@) @ @ O W) i i
@ G O @) W VA

|
Car enters the drive-through of a fast food red{aurant to place an order, and then it proceeds
to pay for the food, and pick up the order. This is an example of :
(1) a multiphase system (2) | a multichannel system
(3) a multiguaue system 4) a multlg;zgse and multichannel system

y
A manufacturer is considering five akeanative locations for setting up its factory. Using the

information given in the table obtaﬂin a ranking and tell the best location for setting the

factory ? .. ¢
Table : Y4
Factors Relative | Location | Location | Location | Location | Location
Weight 1 2 3 4 5
Availability of
0.28 20 40 55 35 60
Infrastructure
Size of Market 0.18 30 30 80 60 40
" |Industrial Relati
naustal REaton) - 9.15 80 30 50 60 50
Climate
Tax Benefits 0.09 80 20 20 20 10
Availability of
0.09 70 70 50 50 45
cheep labour
Nearness to port 0.20 20 40 60 50 90
Code
(1) Location 2 (2) Location 3
Location 4 (4) Location 1 and Location 5
D715 HIH\IHIIH\H LA 12
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27. eIt - 199 oIt - 111 A7) 1 e 6 Tad | 9anm 94 ¢
At - 1 T - 11
YA YaeT et o Tfatatemar
(a) & S () =St fmtor o Hfara feen- e aon gk =i fyifa
(b)  ToTel GSEA (i) ggaﬁﬁmﬁfeﬁnmwaﬂ?mm
H qgadt €|
(c) Hfska grey (il) TTACH hl {‘Ollcpd T AT T I A Eh‘{ﬁ fh‘ Hey o
fram s ifaat Tenfad we ) { s
(d) Hfaenst ® e AR @ (iv) Tk oreddrd fREt ot @ Hie dR w500 AfET @
STAR Y T 2 |
%< :
ey SN
@ @ O @) gy
(3) (@) () (@) (iv) / .'
4) @) (@@ @D () \ }

28, TF FW AL 3 3 T T S T q.wgﬁ fare 5 v’ 3 e el § o T
m@mm%@wmﬁaﬁ?aﬁiwwa?m WW%IWI#HI@IGdﬁ'@I%H%I
ST ] 2
(1) T == oMt { 2 T E- % ot
(3) UH Ig-FHdR YUledt N @) T g SR g S yoned

29. U faffafar ST HREm Wqu'd'ian‘ﬁ ¥ UM Ahfeus Tl R fouR R W@ ¥ gnei § < W
ST %1 TN FT G T kT YT Y 3R HREM T T 3G FAaH TS S |
HROf !‘.

FH SILIERE et e e et e

U 1 2 3 4 5

| e T Saerarar| 0,28 20 40 55 35 60

L 0.18 30 30 80 60 40

ST ey qamEau 0.15 80 30 50 60 50

S — 0.09 80 20 20 20 10

T 99 1 3qereudt | 0.09 70 70 50 50 45

S ﬁm 0.20 20 40 60 50 90

e :

1) a2 2) A3 (B) T4 (4) %1 3R TA5
oars [TV 1 Papec
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30.

31.

32.

If the project completion time is normally distributed and the due date for the project is
greater than the expected completion time, then the probability that the project will be finished
by the due date is :

(1) undeterminable without more information
(2) less than 0.50

(3) equal to 0.50

(4) greater than 0.50

Match the items of List - I with those of List - IT and choose the correct code : |

List - I List - II 4

(a) The probability of two events occurring (i) Marginal probability .

together or in succession \
(b)  The probability of occurring one event (ii)  Posterior probability

given that another event has occurred : ¢
(c)  The probability of occurring a single event (i), Subje¢tive ;irobability
(d) The probability revised in the light of (iv) “Joint probability

additional informations /"J =

II."r (v) [Conditional probability

Code : [ ! _f'

@ B © @ | /
1) @v) () @ (i) 4"! y
2) (v) (v) @) (i) -
() v Gv) @) (@ 4 |
4 @) v @O (@ <,  { ;

Consider the following statemefjlts relatmg to correlation and regression analysis :
Statement I:  Correlation is independent of change of scale, but not of origin
Statement II :  Correlation denotes co-variability between the variables
Statement III : Regression is a relative measure of relationship between variables
Statement IV : Regression is independent of change of origin but not of scale
Choose the correct option :

(1) . Statements I, IT and IV are correct

2 Statementa II, IIT and IV are correct

4 II and IV are correct

(2
(3) Statements fII and III are correct
(4)

Statements)

33.  Which of the following is not a technology driver for an information system ?
(1) Knowledgb asset management (2) Enterprise applications
(3), Object technologies (4) Networks and internet
34. ‘Negandhi Estafen’ is recognised as a good model for the analysis of :
(1) Organisational effectiveness (2) Management effectiveness
(3) Organisational growth (4) Organisation behaviour
S T
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30.

31.

32.

33.

34.

Ffg IRETSHT Ui T 1 90T G &9 9 faaika fean s € ofR) afsm &g o fafy saes qof
T w1 Tty § eife €, @ afEs & fraa fafa 9w qof 9 5t derera | €2

(1) Afaftea gu & fomn freifa &t =t s et §

(2) 0509 &H

(3)  0.50 %

(4) 050§ If®

et - 1 ot gl - 11 % e 1 e #ife it @t %2 &1 =9 ¢ %

geft - 1 get-nm 4

(a) < SRS % UH WY A HHF TG F S FT G Q) wwia e [

(b) forelt TH = R TS o YR W 7T HA (i) TS FEHTAT

BRI IS < S

(c) e Toal s % BN F1 T y i) feroerees FwsTeT
(d) Tfafed garet & YR W gty mmw;w . (iv): HIHR FrTIdl
' (v) S ST

%< [ /

b) © @ |
H @ W 0 /
(2) (iv) (i) (i) —
©) (iv) (i) (1) A { f
@) @) v O (@) ( |

| ¢

TirT R Te-wrery favero sy # frefafed w fa=r #ifvw
HAT - [: Fegay THeS-TRadd ¥ A Bl § TWg gl ¥ e e el
®YT - I : Heqdy IRafddl o e He-IRad-1aar gud ¢ |
YT - 111 : e afkafdql o s & Hele 1 | 9o 8 g
FHYT - IV : TIAH qel-qRerd & T g1 § W HHee-dRed § s T |
e fored L, il HIT :
(1) UL I TELY T E (2) @Y II, 111 T8 IV T& §)

22238

~— —

(a
(i
(
(
(i

[ 3) z,;aqnqaflmﬁ%l (4) HIT I TS IV T&T )

Wwwﬁ%mmﬁ@ﬁ—mmﬁﬂﬂwﬁ%?

(1) Eiﬁtrﬁ'attr@waﬂ (2) SEH IFFEM
(31 TR TR (4) g 3R e

ﬁTrra‘TE{%FWf frafafaa & 9 o foaveam & fau o= Ared & &9 ° SM1 911 ¢ 2
(1) HTSTET FHEHIA (2) YEHAHE FHTTRIT
(3) HiSAIH® Toehrd (4) HISHS HRR
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35.

36.

37.

38.

A self contained internet program designed to be used in a specific environment is :
(1) Active - X (2) Application programme interface
(3) Applet (4) Artificial intelligence

A company manages multiple strategies for it's multiple markets and multiple products
through which one of the following ?

(1) Strategic Planners (2) Strategic Business Units :
(3)  Strategic Windows (4) Strategic Technology \ p
{
Match the items of List - I with List - II : i [
List - I List - II J
(a) Technical Innovation Strategy (i)  Foreign producer gives a straight copy
(b) Product Adaptation Strategy (i) Perceived and c%emonstrable superior

products
(c) Availability and Security Strategy ﬂf:)l Modifications to existing products
(d) Total Adaptation and Conformity I"I(iv) Over¢ome transport risk by countering

Strategy f ercgived risks
Code : % ‘./

@ (®) © (@ __ &
(1) @) G @ ) " |
@ @ @ ™ o «f |
@) () @) i) Gv) ¥4
4) ) @) @ Gv) 7

Only diversified company with a balanced portfolio can use its strengths to truly capitalise
on its growth opportunitie{l;. Hence the balanced portfolio contains :
(1) Stars whose high share and high growth assure the future

2) ' Cash cow$ that supply funds for their future growth

(2)
" (3) Question rffrkq to be converted into stars with the added funds
) '

4 All of the above

39. Porter’s Generic Strategies identified three basic catagories of strategies to include which one
of ithe following/combinations ?
(1)t'L High Cost Producer, differentiation and cost control
(2) " Low Cost Producer, differentiation and focused Niche
(3) Srpecific strategic issues, vertical integration strategies and supply strategy
(4) Managerial resources, profitability and focused Niche
oams [ [1HMIATIA 1
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35.

36.

37.

38.

39.

o7 [ L

[ (3) wafia fafr
)

ot fafere of@aw & ygaa fr w1 % fou stfussfer @-fafea dexie vom 2
(1) TRa-X (2) THARYHA YU eTHH
(3) T (4) HOm T

g HEIAT TT TG-S IR g SR o foAC Ig-eta1sll =1 gorgd 10 § ¥ ffg w& & mremm
Y HAT B2

(1) Ea gadt fases 2)
(3) Heta gad fae (4)

LI Tt S 3ehTeal

ST Heltl JTeNfiTeh! i .

el - 1% Aai &l Gt - 11 A1 § gafad < .r
gt - 1

Tehe1eh! FaHY A (i)

3R ATFHAT HRAN wﬁwﬁqaaﬁwmh?ﬂw%m

) SUTSHl SR Y& FHRHIA m) foreramg Scarel | SNy

d) WHHA TTFed AR A HrEAIA ,'J(iv) YT a1 TR F e wiee

“ 7 o TSt WTe e

et - 11
ﬁé@ﬁm@ﬁaﬁuﬁéﬁ%

a

iii)

[ ca S I R

)
iii
ii)
i)
ii)

T Ggfad demifer %wafdhom fafaefiera et g 3191 Sl o1 ITART faehr ST’ &1 oy
M F fau FR-gdt T1 e Hfera Twifersl o s g € ?

(1) TR S 5= uriert iR 3= fasm ufess a1 svasd 2|

) oS o ik e foehr % fore fifEl @ g W §

| & T TRl &l wer § ufEfda fean S 2|

(4) STF | |

N 1 S et Frefafaa ffa 9 9 seeamell & Sl w1 we=m #3872

(1)

()
®3)
4)

3= AN Scdtee, faved iR arma fason)

ﬁr—rwm fadeT iR HHsia e
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40. The stages of corporate development provide a way for the strategic manager to analyse :

(1) Personal objectives, entrepreneurial skill

(2) Managerial abilities, opportunity and threats
(3) Frequently encountered version, functional management
(4) Competitiveness, aggresiveness

41. Which of the following are included as external factors affecting industrial sickness ?

(a) Changes in fiscal and monetary policies /
(b) Price and distribution { J
() Non-availability of inputs i

(d) Industrial relations ) {

(e) Capital market fluctuations i f

Code : il - (

(1) (), (b), (c) and (d) 2) ;bf (d) and (e)

(3) Only (a), (b) and (c) @ [l ®) @ () and (@

42. Statement (I) “Motivation is a continuous, Comp)er;dJ and dynamlc process”.

Statement (II) “As compared to other industries, extra, metivation is required in service
sector industries”. I (

(1) Statement (I) is correct bq{"St{tement (IT) is incorrect.
(2) Statement (II) is Correct;byt Statement (I) is incorrect.
(3) Both, Statement (I) and (II) are correct.

(4) Both, Statement (I) and (II) are incorrect.

[
43. Assertion (A) :; The function of entrepreneurs is to reform or revolutionise the pattern of
! production by exploiting an invention or, more generally, an untried
* 4 technological possibility for producing a new commodity or producing an
_old one in a new way.

Reasoning (R) : laacit of innovations will usually reduce the life span of a product and/or
ervice.

Code :

(1) ' Assertion |(A) and Reasoning (R), both, are correct, and (R) is correct explanation
of (A).
\

(2)' , Assertion (A) and Reasoning (R), both, are correct, but (R) is not right explanation
_ of (A).

r
(3) Assertion (A) is correct, whereas Reasoning (R) is incorrect.

(4) Reasoning (R) is correct, whereas Assertion (A) is incorrect.

oa7s [N
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40.

41.

42.

43.
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) AT T8, ITH Heitl hI
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(c) STYIH I SFTSUCTSH]

d) it ey p
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%< ,f/‘( .'
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44.

45.

46.

oarss ]

A business idea becomes a good business opportunity when it covers which four of the
following ?

(a) Attractiveness (b) Foreign Collaborations

(c) Political Support (d) Timeliness

(e)  Durability (f)  Value addition to end user

Code : :

(1) (@), (b), (d) and (©) () (), (b), (&) and (9 " /.
(3) (@) (d), () and (9 (4) () () (e) and (9 , )
Which of the following are correct for an entrepreneur ? ‘s . ;f

(a) is an independent person oy \ {

(b) makes his/her own decisions ,-‘// = |'

(c) has the opportunity of realising dreamr§ | .llll

(d) has good financial strength i \ [

(e) has undergone a systematic business training '/ y

(f)  has immense job satisfaction & f 8

Code : . J‘r

M @O @add A @ @) @ande

3) @ () () and (f) 4) (@), (b), (d) and (f)

il -
Assertion (A) :| Social am;it has been defined as a commitment to systematic assessment of
and reporting in some meaningful, definable domain of the company’s

& activities that have social impacts.

" Reasons (R) : ‘_he'-. Companies Act 2013 has accorded statutory recognition of the social

esponsibility of a corporate entity and gives option to provide a percentage
of profit for the purpose as per discretion of the board.

Code : |

(1) Both (A) and (R)are correct, and (R) is the right explanation of (A).
(2)Ik 4 Both (A) and (R) are correct, but (R) is not the right explanation of (A).
(3) : (A) is correct but (R) is not correct.

(4) (R) is correct but (A) is not correct.
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44. HIE AEEEH EEAT I9 TV AT FHR STTHL o1 Sl ¢ Sidl 398 fTfaafgd § ¥ -6 91
forRIoaTe Biet @ ?

(a)  STRYOC (b) focsit wgam

(c) TSHIfds wwedq (d) wHEATTSAl

(e) T (f)  Afaw yEer & fau g 944

%<

(1) (@), (b), (d) R (e) 2 (@) (), () R (f) Ve
3) (@), (d) (e) 3 (D) @) (b), (©) () () f .

45. U gt & fod frefafea § @ #i-a1 faewey @@l €2
(a) s Al B 4
(b) TF 3 ol wrar/ et €1 A a4
() % T ST T AR F F S A
(d) % T wrE sl qe B ]
(
(

e) SHATEYd E Y IS FLI0-UT B \4!

0w o e s v g A (*’
%< <J |

(1) (a), ®), (c) T (d) 1;'@)@@@ ©)
(3) (@) (b), () T () 4) (@) (b), (@) T ()

46. AFTHAT (A) : AT 3 THeT I FHTA F I FRERAT (TR AHEINTF ST IS €, &
| F U], IRV AT &3 w1 FHAG TR SR YfdaeT T FH it Fiaelgdl
¢ 4 % wu H R e S R )
/T (R) : At it 2013 7 7 g w1 G ST ) Hifdtien
\ "t ® AR A1 % fade % AR 39 Se99 & forw @y 1 ek fafyea gfaea

SUA Y I faehey A1 eh {dl %l

E
1 (A)aﬁt(R)laﬁﬂfr%, 3 (R), (A) FT T == |
()WWWﬁWHW®MWWWWﬁW®
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47.

48.

49.

50.

Which one of the following of ‘Immanuel Kant’s” Principle, known as categorical imperatives,
is a guide to managerial action ?

(1) The managers should be open to share his/her corporate secrets, individual traits with
external agencies.

(2) The managers be free and open to share his individual knowledge and experience for
community’s gain.

(3) A person’s action is ethical only if that person is willing for that same action to be taken
by everyone who is in a similar situation. P

f
(4) A person always treats another human being simply as a means to an end.

{
I’ [
(1) It is duty-based ethics and measures whether an action is right or wrong.
2

()
(3) It focuses on purpose of each action and judges the conséquenpes of an action.
(4)

Teleology in ethics supports which one of the following the most ?

r

It measures whether the results of the actions are right or wrong.

It focuses on neutrality and fidelity of an ftﬁtion. &

/ |
Assertion (A) : Deontology is duty-based ethics. 1t is a_rll approach to ethics that addresses
whether the motives behind certai :‘?ﬁon are right or wrong.

Reason (R) : Deontology focuses on whether the rgsults of the actions are right or wrong.
Code : " -t
(1) Both (A) and (R) are correct . (

(2)  (A) is correct and (R) is_th"&rj,‘g&t explanation of (A)
(3) (A) is correct but (R) is_r‘[oi! the right explanation of (A)
(4) Both (A) and (R) are incorrect

i,

Assertion (A) : Rulds notjfied by the Ministry of Corporate Affairs (MCA) Sec. 149 of the
CompaniLs Act mandates that a listed company having a paid up share
' capital of X 100 crore or more shall appoint at least one woman director on

* 4 its board.

>mpowerment in corporate governance and company administration.

/ Reasons (R) : .e;he. corporate entities wanted to enhance gender equality and woman

Code : |
(1) _Both (A) and (R) are correct.
(2)  (A) is correct and (R) is the right explanation of (A).
(S)Ik (A) is correct but (R) is not the right explanation of (A).
(4) W Both (A) and (R) are incorrect.

r
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47.

48.

49.

50.
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